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[PHYSICS] > @
Ans. (3) Ans. (1)
g x=(5x1)/3=5/3
c 2x 5
I,= +1 x5%2=50
Ans. (2) 2
Temperature quickly rises for monoatomic
gas as  ="C_AT so it exert more pressure
as compare to diatomic gas.
Ans. (3)
There is no relative motion between source
1kg
& observer.
50
oy B s N
Ans. (4) Gl Pl T oy
_ _ Mgx 3
fof Y A vs 10
! O_V—VS_ ; f, v-vg 100 10. (2
v ov=1lvg 11. Ans. (1)
[ T 1 1
f2=f0 ¥ , A—fzzi‘]s :§% EX_ :AVX_
v+vg |7 £, v+vg 3 k k
B N = E,<E,<E and AV, < AV, < AV,
Ans. (3)
A =0.02x0.75=0.015 12. Ans. (2)
100158 8% £ + X In first case
v, =+0. sin 871 +% i=k0,i=ko,
kO, =kb, (D
In second case
Ans. (1) v =v
Area covered by TV signals =nd?, d = v2Rh ' ' ? ‘
where, R 1s the radius of the earth and h is = kO = k0,1, -(2)
height of antenna . from (1) & (2), we get
Ans. (1) ooy 09
_ z 1 0.0
Lo =1o, 172

@
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13. Ans. (4) 17. Ans. (2)
q dq _rt dt
j—CEcE—q_ "RC L en|= =3
t t R ={— 1] R, R,)”
q:CE[l—2e_ﬁj == Ezﬁefﬁ 1 1
d¢ E 3=01.25-1)| R "R (@)
0 1 2
H = [IPRdt = 20E* =4 x U,
| caf2fd)
14. (1) " e
3 0.25u
-3 = T2p_p = 05m=3875-3u

15.  Ans. (3) = u=3.752.5=15

: 3a i
ra *
® &—o 18.
q —-q +q
ka® o 9l Ans. (1)
U= e, [
? ? ? v 15 b
AU+ AKE =0 {1 1
1 2kq’ PR
—(Emadel=
g e 3a =75
’21{ .
®= 5 qs
e '=—-12.5
_ q 1 1 1
0) - — — — (L —
\/6me,ma’ v' 125 =15
1_2_ 1
v 25 15
l _12-10
16. Ans. (1) v' 150
CCW path at r = 2R gives 2n(2R)E v'=75cm
=—(d/idt)[(B, — B t)(RH] = E =Rp/4 ; CCW v"'=-95 cm
opposes the loss of B out of the paper just as i " i _ l
would be the case if a real wire were there v' 95 5
with E in the direction of I. v'= 53 cm
19.
Ans. (3)
(A+ DJ
sin
~ 9
H="""A gives
sin —

2008(A/2) = 11 or cos(A/2) = 1.732/2 = 3/2
or A =60°

@)
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20. [ CHEMISTRY]
Ans. (1)
R R o
n= j Inx® = j (GZEXdX)ﬂnxz 26.
R/2 R/2
Ans. (3)
= 15nc0R*/64 |
21 ~16560 = A G° +RT In [5}
-16560 = —RTInKp — RTIn 2
Z= (X, X, +R> = {25125 = 52 — Kp = 4
ooz 27,
rms - 5_\/§ -
V=1x X)=1x5=5Volt Ans. (@)
=1 X - Xg= Ve A + 2B —2C+D
22 4 t=20 0.6 0.8 0
23. 5 fie=f 0.6-0.2 0.8-0.4 0.4
24,

(Rate), = K(0.6) (0.8)"

(Rate), = K(0.4) (0.4)*
Let initially No — atoms were present .
(Rate),  K(0.4) 1

~n=N,- N e™— (i) =

(Rate), K(0.6)(0.8° 6
and 1.25 n = N, — N e ™2 — (ii)

28. (2
[Total B particle emitted in 4 seconds] ,(\/I)lvl RVAVASSVEVA
Dividing (1) by () MT = 0.33
| —ot 20. 3
1.25= ATf:ifoxm
1-e®  —
(i=3)
1 So, [MA(]A,
On solving et = 1 30. (1)
s —2h=—1In4 By %, =%,-BJc
—2]n?2 (I) can be weak electrolyte
v = N2 (1) can be KCI
T% (Ill) can be HCI
31.
T% =1 second
Ans.(2)
T n M
25. L N i° T = ;
[SOI 3 Il02 1\/[])2 y nOZ =1 s
I
T=2x ﬁ n, = Z =2
T M, 32
L= =<2 % = =42 Ans,
T, \M, ' sl

%
Il
—
w0
o
o

®)
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2.
3 47.  For a monobasic acid
Ans.(1) (™ =Ca
Sol. HA —=H'+ A- =%><0.001=10*4 = pH=4
c-X 0.1 +x X
HB >  H*+ B- 48. | _KIA]", 100r = K[10A]"
0.1) 0.1 . Ly
(01+X)(X) ThUS ﬁz[ﬁ] orn=2
K, = E— {Let x ¢ << ¢ (approx)}
b _ o K,e K fo o=
= sub. 0.1 +x=0.1 ;x= ol - i e=01} 49, 1. CH, - CH, —CH, — CH, - CH, - CH,
n-hexane
X
a=_-=10° 2. CHy ~CH - CH, ~CH, - CH,
CH,
33 (4) Fact 2-methyl pentane
34. (1) Fact 3. CH;-CH, - C‘:H -CH,-CH,
35. CH,
3-methyl pentane
Ans.(2) 4. CH; ~CH-CH -CH
= CH, CH
T, [V "~ 2,3 Dimethyl butane
[Sol. T = v, |CH3
) 5. CH;—-C- CH,-CHj
5k = |
1 \s 1ys CH
= T,-T, [5} = 800. (?J 9,2, -cliatty} big
=800 (0.5)2 = 200 K
7 50. i _CH-
AH,, = SR % (200-800) = — 2100 R Joule Tiwsrlsomens: Chlg—CECHy; end
Cl
36. (3) Fact CH3 —CHg —CHZCI' are possible for C3H7C[ .
37. (1
In Deacon process, Cu,Cl, is used as catalyst
38. () [ MATHEMATICS]
Fact
39. (4 51. Ans. (1)
40. (1)
In all compounds central metal atom can define d_y -9
same colour due to d-d transitions dx|, _,
41. (3) Fact ' _
42. (3) Normal : 2y +x—-2=0
Li and He has same screening value . 241-9
43. (4) Fact distance = 5
44. (3)
Due to hydrogen bonding, the correct order of B.P.
is PH; < AsH, < SbH, < NH, — Boiling point
45. (3) Fact
46. In sodium chloride, each Na* ion is surrounded by six

Ci™ ions and each CI” ion is surrounded by six Na*
ions. Thus, both the ions have coordination number six.
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52. Ans. (4)
(Given expression is
4s1n?0 + 4sin?20 + 4sin?40

(use : sinb = —sin80 at 0= g)

1-cos20 1-cos40 1-cos86
4 + +
2 2 2

2 41 8r
6—2| cos— +cos— +cos—
7 T 7

; T
SN ——COS ——
g_9. 1 T

. T
Sin —

6+1="7

53. Ans. (3)

ax+b

x*+1

20x? —ax+ (20-b)>0VxeR
aZ—80(20—b) =0

a?+ 80b = 1600

<20v¥xeR

54.

Ans. (1)

Bl Rons B 03 are 1in A.P

d=2,a,,=21=a,=3,a,=2n+1

1 1
4:=5\2n+1 2n+5

111 1 2
=—| —4—|=—
4{3 5} 15

55.

Ans. (4)

Area = 2 (e" —e’x)dx

=2{e+1—2}
e

O Py,

56.

57.

58.

59.
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Ans. (2)
(1—}(2)8 (1 —XS)(l —X4)
(1-x)
_ (1-x) (1 +x) (1-x)(1+ 5"+ x)(1-x) (1 + x)(1+x7)
(1)
= (1 +xPE" + g5+ 2x% + x+ 1)
=4C, +14C, +21C, +1C, =19
Ans. (3)
41°C, =120
Ans. (4)

Weget S, =x*+y*-100=0

- it touches S, internally
Power of point P(5\/§, 5\/5) w.r.t circle
S, =100+1042 >0

.. lie outside.

Ans. (1)

G Q(% .

w1 41
CE(u1) o+ M 500T) T R
21

= pu=4and 7L=I

aBo () _2lag
A+1 25

©)
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60.

61.

62.

63.

64.

Ans. (3)

PF, + PF,=21

PF,PF, =108 éﬁ\
- PF,=9,PF,=12 - ~
=FF,=15 \&J

5
:>21e=15:>e=5

Ans. (3)
Focus of ellipse (i5\/§,0)

2 2

Let hyperbola % — % =1
36 16

A2+ B2=75 and —

AT B

:>86(75—A2)—16A2 = A? (75—A2)
A= 127A2+ 2700 =0

A2=100or 27

B2 =-25or 48

2B 248 32

A 3B B

- LR=

Ans. (1)
a+l 2 -1

0 a -2|=0
0 0 a+2

=aat1)(a+2)z0
az0,-1-2

Ans. (3)
n=20,21

Ans. (4)

Let parabola (ax + by)? + dx + ¢y + [ = 0,
where ax + by + ¢ =0 is axis.
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put given point in equation

weget b*+e+f=0 ... (1)
4a2+2d+f=0 ... 2)
4b2+2e+f=0 ... (3)

422+ 4b%+8ab+2d+2e+ f=0 ... 4)

from (1) & (3)e = —3b?,
from (1) f=2b2
from (2) 4a?+ 2d = —-2b?
Now eq (4) —2b%+4b?+8ab=0
b=0or2b+8a=0

a 1
ms=-——o==
b 4
Ans. (1)
negation is p A~ ((N p) v (N CI))
pA(pAQ)
pAq
Ans. (2)

[ex _Zefx ](dx +dy) = [ex ;efx J(dx ~ dy)

2e%dy = 2e7¥dx
dy = e 2¥dx
-2x

== +C
Y 2

2ye® =1 + Ce*

Ans. (1)
" cosx 1
I; = I ——dx =—/n2
sin X 2

n/4

e
il

"2 cos(2n +1)x—cos(2n +1)x

1
dx=— 2
X [cos nx]

i sin x
1,-1,=-1
I,-1=1
1
I,-1,= —5

1
on add I, = —§+IO
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68.

69.

70.

71.

Ans. (1)

[ = log ((ax* + bx + c)i(x ~2))
Lax?+bx+o)(x-2)>0
(X +2%J (X—Q) >0

X € (2,00)

PD = OP sin2pB

.sin 2P

SN o

= R coseca sin2[3

Ans. (2)
Let 2tan13 — 3cot(tan™'2) = o
3cot(tan™2) =

given expression sing cosp + cosa sinf3
sin(e + B)

sin(2tan13)

_2()

C1+(3)

_B
5

.3 3 L 2 &2
sin"X—cos"X _l-cosxsinx—2cos” Xsin” X

Sin X +cos X gin®x —cos® x

1-cosxsinx — 2cos® xsin®x

sin®x—cos’x = -
SINX — COSX

4 3 3 4

SIN“X — COSXSIN"X — COS°XSINX + cos*x

=1 — cosxsinX — 2cos?xsin?x

2x

(sin®x + cos?x)? — 2cos®xsin
— cosxsinx(sin?x + cos?x)

=1 — cosxsinx — 2cos?xsin?x

0=0

it 1s always true wherever defined

72.

73.

74.
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P(/-1)=0
o PE)=(E2+ D(ax?+bx +e)
c=e+ta
d=b
Q) =4ax®+ 3bxZ+ 2ex+d
= (2xZ+ 1)(2ax + d)
2d =3b
Ze=2c
= e=b=d=0
a=c

P(x)=ax*+ ax?

1

IP(X)dX=E2>3+E=E

! 15 5 3 15
= a=2

at+b+ct+d+e=4

f(x) = sin®x + Asin?x
f'(x) = 3sin?x cosx + 2Asinx cosx
= ginx cosx(3sinx + 2A)

' f(x) has exactly one minimum and exactly

one maximum

3sinx + 2A =0 and sinx# 0

. 25
smx=—? and A =0

xe(_%,%j_{o}

()



Test-3

75.

IM|%=k

IM|Vk or |M|=-+k
x(x —4) + x(x + 6) =k
2x2+ 2x =k

2x? +2x -k =0
always two reals solutions

or xx—-4)+xx+6)= -Jk

2x% + 2x +Jk =0
for no solution

D<0

4-8Jk <0
1

— <k

2 Vi

9k>g
4
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